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QUESTION 1

What are three ways in which Cisco ISE learns information about devices? (Choose three.)
A. user authentication to the ISE

B. SMTP agents

C. RPC mechanism via HTTPS

D. traffic generated by the device

E. network servers the device has accessed

F. RADIUS attributes

Correct Answer: DEF

QUESTION 2

Which three options focus of the current digital business era? (Choose three.)
A. 10T scale

B. connectivity

C. virtualized services

D. automation

E. centralized enterprise and web applications

F. Human scale

Correct Answer: ACD

QUESTION 3

Which two statements describes Cisco SD-Access? (Choose two.)

A. programmable overlays enabling network virtualization across the campus

B. an automated encryption/decryption engine for highly secured transport requirements

C. software-defined segmentation and policy enforcement based on user identity and group membership
D. a collection of tools and applications that are a combination of loose and tight coupling

E. an overlay for the wired infrastructure in which traffic is tunneled via a GRE tunnel to a mobility controller for policy
and application visibility
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Correct Answer: AC

QUESTION 4

Which protocol runs between the vSmart controllers and between the vSmart controllers and the vEdge routers, and
unifies all control plane functions under a single protocol umbrella?

A. BGP
B. OSPF
C. IKE
D. OMP
E. VRRP

Correct Answer: D

QUESTION 5

What are the three foundational elements required for the new operational paradigm? (Choose three.)
A. centralization

B. assurance

C. application QoS

D. multiple technologies at multiple OSI layers

E. policy-based automated provisioning of network

F. fabric

Correct Answer: BEF
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